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General instructions:

Read the following instructions very carefully and strictly follow them:
1. This question paper contains 34 questions.

2. Marks are indicated against each question.

3. Answers should be brief and to the point.

Q1) What is TRUE regarding Silk Route? (1)
(1) They were ancient trade routes that connected the north and the south.

(ii) This network helped India to establish commercial and political contact with foreign countries.
(iii) It was so named as heavy silk trade was carried out along its length.

(A) Only (i) and (ii) (B) Only (ii) and (iii)

(C) Only (i) and (iii) (D) All the tree

Q2) was an important center for export of wool and import of horses. (1)
(A) Patliputra (B) Peshawar (C) Mithila (D) Ujjain

Q3) Assertion (A): Internal trade refers to buying and selling of goods within the geographical
boundaries.

Reason (R): Internal trade does not require foreign exchange.

Choose the correct option: 1)
(A) Both Assertion and Reason are true, and Reason is the correct explanation of Assertion.

(B) Both Assertion and Reason are true, but Reason is not the correct explanation of Assertion.

(C) Assertion is true, but Reason is false.

(D) Assertion is false, but Reason is true.

Q4) Statement 1: Sole proprietorship is one man show.
Statement 2: Sole proprietor has to share profits with his employers.
Choose the correct option: (1)
(A) Both statement 1 and 2 are correct.
(B) Both statement 1 and 2 are incorrect
(C) Statement 1 is correct but Statement 2 is incorrect
(D) Statement 1 is incorrect but Statement 2 is correct
OR
Statement 1: Partnership is governed by the Indian Partnership Act of 1956.
Statement 2: There can be a maximum of 50 partners in a partnership business.
Choose the correct option:
(A) Both statement 1 and 2 are correct.
(B) Both statement 1 and 2 are incorrect
(C) Statement 1 is correct but Statement 2 is incorrect
(D) Statement 1 is incorrect but Statement 2 is correct
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Q5) Raju is a very hardworking student, he went to Australia to live with his uncle and do a job over
their. After some years his uncle died and he became the heir of his uncle’s property. This is an

example of (1)
(A) Disclosed property (B) Parental property

(C) Ancestral property (D) Self-acquired property

Q6) Indentify the proper sequence of the steps involved in promotion. (1)

(i) Name approval

(ii) Idendification of business opportunity

(ii1) Fixing up signatories to Memorandum of Association

(iv) Feasibility Studies

(A) (i),(iv);(ii) and (iii) (B) (ii),(iv);(i) and (iii)
(C©) (i),(ii); (i) and (iv) (D) (i), (iiii);(iv) and (i)

Q7) Statement 1: A partnership firm can have maximum of 50 partners

Statement 2: A private company can have maximum of 200 members

Choose the correct option: (1)
(A) Both statement 1 and 2 are correct.

(B) Both statement 1 and 2 are incorrect

(C) Statement 1 is correct but Statement 2 is incorrect

(D) Statement 1 is incorrect but Statement 2 is correct

Q8) Which of the following is NOT a merit of Statutory Corporation? (1)
(A) Corporate Existence (B) Autonomous Setup
(C) Operational Flexibility (D) All of them
Q9) The appointment of employees of Departmental Undertaking are made through UPSC and SSB
which are headed by. (1)
(A) Ministers (B) President
(C) 1AS officers (D) IES officers

SFIAETE
Q10) The above picture shows examples of (1)
(A) Departmental Undertaking (B) Public companies
(C) Public Corporations (D) Government Company

Q11) Assertion (A): MNC'’s create numerous employment opportunities in host countries.

Reason (R): MNC’s make foreign direct investment, which leads to economic development of host
country.

Choose the correct option: (¢H)]
(A) Both Assertion and Reason are true, and Reason is the correct explanation of Assertion.

(B) Both Assertion and Reason are true, but Reason is not the correct explanation of Assertion.

(C) Assertion is true, but Reason is false.

(D) Assertion is false, but Reason is true.

Q12) Current account is also known as. @)
(A) Recurring deposit (B) Supply deposit
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(C) Demand deposit (D) Demand draft

OR
The period of fixed deposit ranges between
(A) 15 days to 10 years (B) 15 weeks to 10 years
(C) 15 months to 10 years (D) 15days to 15 years

Q13) Assertion (A): Banking services facilitate business transactions.

Reason (R): Banks provide loans, accept deposits, and offer payment mechanisms.

Choose the correct option: (1)
(A) Both Assertion and Reason are true, and Reason is the correct explanation of Assertion.

(B) Both Assertion and Reason are true, but Reason is not the correct explanation of Assertion.

(C) Assertion is true, but Reason is false.

(D) Assertion is false, but Reason is true.

Q14) ATM or Automated Teller Machine is also called (1)
(A) Automated Banking Machine (B) Digital Cash Machine

(C) Any time money (D) Banking Till

Q15) Cargo insurance and Freight insurance both are types of (1)
(A) Life insurance (B) Marine insurance

(C) Burglary insurance (D) Hull insurance

Q16) The type of business activity shown here above is (1)
(A) Call Centre (B) Outsourcing
(C) Entrepot business (D) Stock market
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Q17) Both the pictures above are examples of (1)
(A) BPO (B) KPO (C) Networking (D) B2B

Q18) In relation to Emerging modes of Business what is VPN. (¢H)]
(A) Voice Private Number (B) Virtual Private Number

(C) Voice Private Network (D) Virtual Private Network

Q19) Transactions and dealings among various departments and persons within the firm is. (¢H)]
(A) B2B commerce (B) B2C commerce

(C) C2C commerce (D) Intra-B commerce
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Q20) Which of the following are merits of e-business (1)
(i) Moving towards a card less society

(ii) Speed

(iii) Global reach

(A) Option (i) and (ii) (B) Option (ii) and (iii)

(C) Option (i) (ii) and (iii) (D) Option (iii)

No feasibility study needed for roof solar

connections upto 3kW

Q21) Explain the various feasibility studies. (3)
OR
Name the various kinds of share capital also state the Sections of Companies Act that define them.

Q22) The Railways in India are fully owned and operated by the Government of India. They are part of
a government department, and the employees are government servants.

a) Identify the form of public sector enterprise described here. (3)

b) Mention one feature of this form of enterprise.

c) Name one limitation of this form of organisation.

Q23) Sameer is a successful businessman he has a bank account in a public sector bank. He has shares
worth 15,00,000 of the bank. To meet his day to day requirements he has taken Rs.10,00,000 loan from
the bank. However he had just used Rs.7,50,000 in the financial year. The interest chargeable on the
loan is 12% p.a.

a) What type of loan has been sanctioned to Sameer? Is this type of loan given to everyone (1)
b) Against what security has the loan been sanctioned? (1)
c) Calculate the interest that Sameer needs to pay. (1)
Q24) Explain any three e-business applications. (3)

Q25) “Without profit a business will not survive long” Explain any four reasons to justify the
importance of profit. (4)

Q26) Ramesh India Ltd. is a large manufacturing firm. It produces shirts and jeans. It specialises in
white office going shirts and has a price range of Rs.1,599 to Rs.5,999. It has 1,000 shareholders. The
company has issued its shares to the general public and these shares are freely traded on the stock
exchange. Many individuals and companies were interested to buy their shares as the company is
doing very well. It announced a profit of 25% profit after tax last year.

After three years into business it wants to raise more money from the market and offers 20,000 shares
of Rs.50 each . It has an application money Rs. 20, and allotment money of Rs. 15 had to be paid
within 60 days of the allotment of shares. Mohit is an employee of the company and he has purchased
500 shares of this company. After eight years of its formation their share prices became Rs.120. Mohit
wants to sell his shares.

a) What type of company is Ramesh India Ltd. @)

b) What is the minimum number of members required to form this type of company? (1)

¢) What is the liability of Mohit? (¢H)]

d) Can Mohit sell his shares? Which feature of the company does this exhibit? (1)

Q27) A partnership firm can have different types of partners. Explain any four types 4)
OR

What is a cooperative society? Explain any three features of a cooperative society.
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Q28) What is a departmental undertaking? State any four limitations and explain any two limitations.

(4)
Q29) a) Explain the different types of banking cards? (3)
b) What is EFT name the different ways it can be done? (1)
Q30) How is e-business is different from traditional business on the basis of — 4)
(1) Physical presence (i) Location requirement
(iii) Nature of human capital needed (iv) Transaction risk
Q31) How are primary and secondary industries further classified? Explain (6)
Q32) State any six differences between Partnership and Hindu Undivided Family business. (6)
Q33) Define a MNC. How is it a boon for developing countriers? (1+5)

OR
(a) A joint venture can be formed in three different ways. Explain.

(b) State any four benefits and explain any two of a joint venture.

Q34) What is life insurance? Explain any three elements of life insurance. State any four different
types of life insurance policies (1+3+2)

ALL THE BEST
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